**SCIENTIA** Series A: Mathematical Sciences, Vol. 31 (2021), 57–60 Universidad Técnica Federico Santa María Valparaíso, Chile ISSN 0716-8446 © Universidad Técnica Federico Santa María 2021

## A note on the Laplace transform of $|\sin(x)/x|^p$ .

## M.L. Glasser

ABSTRACT. This note concerns the derivation of several sum and integral identities relating to the Laplace transform

$$\int_0^\infty e^{-ax} \left| \frac{\sin(x)}{x} \right|^p dx$$

and related integrals.

## 1. Introduction

The function  $\operatorname{sinc}(x) = \frac{\sin(x)}{x}$  occurs frequently in applications such as approximation theory and computer graphics, and, lately, interest in its purely mathematical character has been increasing [1, 2]. This note is devoted to a brief examination of the Laplace transform,

(1.1) 
$$J(a,p) = \int_0^\infty e^{-ax} \left|\operatorname{sinc}(x)\right|^p dx = \int_0^\infty e^{-ax} \left|\frac{\sin(x)}{x}\right|^p$$

for  $\operatorname{Re} p \ge 0$ , for which only the cases p = 0, 2 appear to be known [4].

First we decompose the range of integration into the intervals  $[n\pi, (n + 1)\pi]$  $n = 0, 1, \ldots$  and in the *n*-th interval let  $x \to x + n\pi$ . Next we "exponentiate" the denominator by means of the integral representation for the Gamma function to get

(1.2) 
$$J(a,p) = \frac{1}{\Gamma(p)} \sum_{n=0}^{\infty} \int_0^\infty ds \ s^{p-1} \int_0^\pi dx \ e^{-n\pi(a+s)} e^{-(a+s)x} \sin^p(x).$$

The next step is to sum the geometric series and introduce s + a = u. Then scaling a out of the *u*-integral gives us

(1.3) 
$$J(a,p) = \frac{a^p}{\Gamma(p)} \int_1^\infty du \frac{(u-1)^{p-1}}{1-e^{-\pi au}} \int_0^\pi dx \ e^{-aux} \sin^p(x)$$

 $2000\ Mathematics\ Subject\ Classification.\ {\rm Primary}\ 42{\rm A}32,\ 42{\rm B}10,\ 33{\rm B}10.$ 

Key words and phrases. Laplace transform, sinc integrals.

<sup>57</sup> 

However,

(1.4) 
$$\int_0^{\pi} e^{-cx} \sin^p(x) dx = \frac{\pi}{2^p} \frac{\Gamma(p+1)e^{-\pi c/2}}{|\Gamma(1+\frac{1}{2}p+i\frac{c}{2})|^2}$$

yielding the desired representation

(1.5) 
$$J(a,p) = \frac{\pi p}{2} \left(\frac{a}{2}\right)^p \int_1^\infty du \frac{(u-1)^{p-1}}{\sinh(\pi a u/2) |\Gamma(1+\frac{1}{2}p+i\frac{a u}{2})|^2}.$$

and

(1.6) 
$$J(0,p) = \frac{\pi p}{2} \int_0^\infty dx \frac{x^{p-1}}{\sinh(\pi x) |\Gamma(1 + \frac{1}{2}p + ix)|^2}.$$

As an application of (1.5) we shall derive a closed form expression for p = 2n,  $n \in \mathbb{Z}^+$  for which only the case n = 1 appears in standard tables, such as [4]. By iterating the functional equation for the Gamma function and noting that  $|\Gamma(1+ix)|^2 = \pi x / \sinh(\pi x)$ , we find

(1.7) 
$$B_n(a) = \int_0^\infty e^{-ax} \left(\frac{\sin(x)}{x}\right)^{2n} dx$$

(1.8) 
$$= n \left(\frac{a}{2}\right)^{2n-1} \int_{1}^{\infty} \frac{du}{u} \frac{(u-1)^{2n-1}}{\prod_{k=1}^{n} (k^2 + a^2 u^2/4)}$$

The natural next step is to apply the partial fraction decomposition

(1.9) 
$$\left[\prod_{k=1}^{n} (k^2 + a^2 u^2/4)\right]^{-1} = \sum_{k=1}^{n} \frac{A_k(n)}{a^2 u^2/4 + k^2}$$

where

(1.10) 
$$A_k(n) = \prod_{j=1}^{n'} \frac{1}{j^2 - k^2}$$

and the prime denotes  $j \neq k$ . Here one encounters a problem, however, since the individual integrals do not converge at infinity for n > 1. Therefore we introduce a finite upper limit and write

(1.11) 
$$B_n(a) = n \left(\frac{a}{2}\right)^{2n-3} \lim_{g \to \infty} \sum_{k=1}^n A_k(n) \int_1^{g+1} \frac{du}{u} \frac{(u-1)^{2n-1}}{u^2 + (2k/a)^2}.$$

58

The u-integral is elementary

$$(1.12) \quad b^{2} \int_{1}^{g+1} \frac{(u-1)^{2n-1}}{u^{2}+b^{2}} \frac{du}{u} = \operatorname{Re}\left[ (1-ib)^{2n-1} \{ \operatorname{Log}\left(1+\frac{g}{1-ib}\right) + \sum_{l=1}^{2n-1} \frac{(-1)^{l}}{l} \frac{g^{l}}{(1-ib)^{l}} \} \right] \\ - \operatorname{Log}(1+g) - \sum_{l=1}^{2n-1} (-1)^{l} \frac{g^{l}}{l}.$$

Since the left hand side of (1.11) is finite, all terms on the right hand side of (1.11) containing positive powers of g must cancel out; this gives the identities  $\sum_{k=1}^{n} k^{2p} A_k(n) = 0$ , p = 0, 1, ..., n - 1. With the divergent terms eliminated (1.12) becomes

(1.13) 
$$B_n(a) = \frac{n}{2} \left(\frac{a}{2}\right)^{2n-1} \sum_{k=1}^n \frac{A_k(n)}{k^2} \left[s_1(a)\ln(1+4k^2/a^2) + 2s_2(a)\tan^{-1}(2k/a)\right]$$

where

(1.14) 
$$s_1(a) = \sum_{l=0}^{n-1} (-1)^{l+1} {\binom{2n-1}{2l}} (2k/a)^{2l}$$
$$s_2(a) = \sum_{l=1}^n (-1)^{l+1} {\binom{2n-1}{2l-1}} (2k/a)^{2l-1}.$$

In particular, for n = 2, (1.13) gives

(1.15) 
$$B_2(a) = \frac{1}{96} \left[ 16(3a^2 - 4)\tan^{-1}(2/a) - 8(3a^2 - 16)\tan^{-1}(4/a) - 4a(a^2 - 12)\ln(1 + 4/a^2) + a(a^2 - 48)\ln(1 + 16/a^2) \right].$$

For  $a \to 0$ , only the last term in  $s_2(a)$  contributes to (1.12) yielding

(1.16) 
$$\int_0^\infty dx \left(\frac{\sin x}{x}\right)^{2n} = n \int_0^\infty \frac{x^{2(n-1)}}{\prod_{k=1}^n (x^2 + k^2)} dx$$
$$= (-1)^{n+1} \frac{\pi n}{2} \sum_{k=1}^n k^{2n-3} A_k(n).$$

Thus we have the interesting identity [2]

(1.17) 
$$\sum_{k=1}^{n} k^{2n-3} A_k(n) = (-1)^{n+1} \frac{2}{(2n)!} \sum_{k=0}^{n-1} (-1)^k \binom{2n}{k} (n-k)^{2n-1}.$$

For odd p, in a similar way one finds

(1.18) 
$$J(a,2n+1) = (2n+1)a^{2n+1} \int_1^\infty du \frac{(u-1)^{2n} \coth(nau/2)}{\prod_{k=0}^n [(2k+1)^2 + a^2u^2]}$$

which appears to be intractable even for n = 0.

Finally, we examine the related integrals

(1.19) 
$$C_n(y) = \int_0^\infty \cos(xy) \left(\frac{\sin x}{x}\right)^{2n} dx$$
$$D_n(x) = \int_0^\infty \sin(xy) \left(\frac{\sin x}{x}\right)^{2n} dx$$

the first of which is given incorrectly in [3, 4]. By setting a = iy in (1.13), assuming y is real, and separating the real and imaginary parts, we find,  $\theta$  denoting the unit step function,

(1.20) 
$$C_{n}(y) = (-1)^{n+1} \frac{n\pi}{2} \left(\frac{y}{2}\right)^{2n-1} \sum_{k=1}^{n} \frac{A_{k}(n)}{k^{2}} \theta(2k-y) \\ \left[\sum_{l=1}^{n} \binom{2n-1}{2l-1} (2k/y)^{2l-1} - \sum_{l=0}^{n-1} \binom{2n-1}{2l} (2k/y)^{2l}\right]$$

and

(1.21)

$$D_n(y) = (-1)^{n+1} \frac{n}{2} \left(\frac{y}{2}\right)^{2n-1} \sum_{k=1}^n \frac{A_k(n)}{k^2} \left[ \ln|1 - 4k^2/y^2| \sum_{l=0}^{n-1} \binom{2n-1}{2l} (2k/y)^{2l} + \ln\left|\frac{y+2k}{y-2k}\right| \sum_{l=1}^n \binom{2n-1}{2l-1} (2k/y)^{2l-1} \right]$$

Acknowledgement. The author thanks Dr. Armin Straub for comments.

## References

- [1] R. Baillie, D. Borwein, and J. M. Borwein. Surprising Sinc sums and integrals. Amer. Math.  $Monthly,\,115{:}888{-}901,\,2008.$
- [2] D. Borwein, J. M. Borwein, and I. E. Leonard.  $l_p$  norms and the Sinc function. Amer. Math. Monthly, 117:528-539, 2010.
- [3] A. Erdélyi. Tables of Integral Transforms, volume I. McGraw-Hill, New York, 1st edition, 1954.
- [4] I. S. Gradshteyn and I. M. Ryzhik. Table of Integrals, Series, and Products. Edited by A. Jeffrey and D. Zwillinger. Academic Press, New York, 4th edition, 1994.

Received 21 04 2021, revised 16 07 2021

DEPARTMENT OF PHYSICS, CLARKSON UNIVERSITY, POTSDAM, NY, U.S.A. Departamento de Física Teórica, UNIVERSIDAD DE VALLADOLID, VALLADOLID, SPAIN

E-mail address: M Glasser <lglasser@clarkson.edu>

60